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Four European countries switched their local currencies to the euro. Find out when they did it and which conversion rate each

country used.

1. Only one country has the same initial in its name and its
former currency. You needed 3.5 of those to buy one euro.

2. Cyprus yielded after the Schilling was yielded

3. You needed 13 or 30 Austrian coins to make one euro.

4. Cyprus yielded in 2008 or had Litas.
5. The Pound wasn't yielded in 2009.

6. Lithuania yielded immediately after the country that
changed 30 coins for one euro.

7.In Cyprus you needed 0.5 coins to buy one euro.

8. You needed more Litas than Pounds to buy one euro.
9. If Austria had the Koruna, then Slovakia yielded in 2002.
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former currency. You needed 3.5 of those to buy one euro.

2. Cyprus yielded after the Schilling was yielded
3. You needed 13 or 30 Austrian coins to make one euro.

4. Cyprus yielded in 2008 or had Litas.
5. The Pound wasn't yielded in 2009.

6. Lithuania yielded immediately after the country that
changed 30 coins for one euro.

7.In Cyprus you needed 0.5 coins to buy one euro.

8. You needed more Litas than Pounds to buy one euro.

9. If Austria had the Koruna, then Slovakia yielded in 2002.
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